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Numbers

13 70 1.

2 3.

8 40

1

10 6

1000 12 2.

7 3 15

4 60

5

11

9

Across

1 Five plus two plus three equals

2 Six minus two equals

3 Three plus four is

5 Three multiplied by two equals

6 Ten minus eight is

8 Three times three is

Down

1 Ten times ten times ten equals one ...

2 Fifteen divided by three is

3 Three times twenty is

4 Eleven minus eight equals

7 Ten minus nine is

1 2

3

4

5

6 7

8
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Solution

13 70 1. F I R S T
T S 2 I 3.

H 8 E I G H T 40 F O R T Y
I V W T H
R E 1 O N E I
T E N 10 6 E R
E 1000 T H O U S A N D 12 D 2.

E Y 7 I 3 15 T S
N 4 60 S I X T Y W E
5 F I V E H E C
O V R L O
U E 11 E L E V E N
R 9 N I N E E D

T E N F O U R
H I
O S E V E N
U I E T
S I X H
A T W O R
N Y N I N E
D E E


